

MINISTRY OF HIGHER EDUCATION
& SCIENTIFIC RESEARCH
UNIVERSITY OF AL-QADISIYAH
COLLEGE OF COMPUTER SCIENCE & INFORMATION
TECHNOLOGY



Journal of AL-Qadisiyah

for computer science & mathematics

PERIODICAL SCIENCE COMPACT
ISSUED BY COLLEGE OF COMPUTER SCIENCE &
INFORMATION TECHNOLOGY

THE DEPOSITING NUMBER OF THE LIBRARY &
DOCUMENTS 1206

ISSN (Print): 2074 – 0204

ISSN (Online): 2521 – 3504

VOL. 10 NO. 1 2018

THE CONTENTS

FIRST AXIS: MATHEMATICS RESEARCH

Seq	Name search	Title
1	Areej Tawfeeq Hameed Baneen Najah Abaas	Some Properties of Fuzzy AB-ideal of AB-algebras
2	Abdul Rahman S. Juma Raad Awad Hameed Mustafa Ibrahim Hameed	On second-order differential subordination and superordination of analytic functions involving the Komatu integral operator
3	Khalid Shea Khairalla Al'Dzhabri	On The Enumeration of The Transitive and Acyclic Digraphs Having a Fixed Support Set
4	Zainab Fabad Mhawes	Dihedral Cryptographic Technique
5	Methaq Hamza Geem Saud Mohammed Hassa	Asymptotic solution for linear quadratic optimal control problems with quadratic small parameter

Asymptotic solution for linear quadratic optimal control problems with quadratic small parameter

Methaq Hamza Geem

Al-Qadisiya university

college of Education

Dept. of Mathematics

Methaq.Geem@qu.edu.iq

Saud Mohammed Hassan

Karbala,Secondary School

of Jammana Bani Abi-Talib



Received : 30/10/2017

Revised : 30/11/2017

Accepted : 01/12/2017

Abstract:

In this paper we constructed an expansion of an asymptotic solution for singularly perturbed linear-quadratic optimal control with quadratic parameter problem. This formulation is based on direct substituting a postulated asymptotic expansion of boundary function type for the solution into the problem condition and on defining optimal control problems for finding asymptotic terms. The solutions of which form $(\epsilon = 0)$ for the asymptotic solution, is proven. In physical mathematic problem we say the singularly perturbed linearly quadratic problem is "fast and slow" velocity, in this work we discussed the concept "The slowest velocity" by taken quadratic small parameter in the singularly perturbed linearly quadratic problems.

Keywords: asymptotic, singularly perturbed, linear-quadratic optimal, boundary function, small parameter.

Mathematics subject classification : 34E15

Asymptotic solution for linear quadratic optimal control problems with quadratic small parameter

Methaq Hamza Geem¹ , Saud Mohammed Hassan²

¹Iraq,Al-Qadisiya university ,college of Education, Dept. of Mathematics

²Iraq, Karbala,Secondary School of Jummana Bant Abi-Talib

Methaq.Geem@qu.edu.iq

Abstract:

In this paper we constructed an expansion of an asymptotic solution for singularly perturbed linear-quadratic optimal control with quadratic parameter problem. This formulation is based on direct substituting a postulated asymptotic expansion of boundary function type for the solution into the problem condition and on defining optimal control problems for finding asymptotic terms. The solutions of which form ($\epsilon = 0$) for the asymptotic solution, is proven. In physical mathematic problem we say the singularly perturbed linearly quadratic problems is "fast and slow " velocity , in this work we discussed the concept " The slowest velocity" by taken quadratic small parameter in the singularly perturbed linearly quadratic problems.

Keywords: asymptotic, singularly perturbed , linear-quadratic optimal , boundary function, small parameter.

Mathematics subject classification :34E15

I.Introduction:

The theory of optimal control system began develop in the 1960s due practical needs and general inters to control problem. Most papers devoted to problems of optimal control with a small parameter. Asymptotic analysis of solution is based on construction of expansion of solution by definition a series of boundary function and postulated this expansion into condition .

Vasilive in [13] A study optimal control system of perturbed linear, quadratic problems with one small parameter ϵ and he is not using the boundary-layer function method. Melnik in [10] study asymptotics of solutions of discontinuous singularly Perturbed problems and he finds the solution by divided the interval of solutions to several subintervals such that the problem is continuous on that subinterval.

In this paper, we are using a direct scheme for a boundary functions for singularly perturbed linearly quadratic problems of the optimal controls with quadratic small parameter . The asymptotic of the solution containing the boundary-layer functions of four types is constructed.

II.view Problem:

Consider minimum functional problem:

$$J_\epsilon(u) = \frac{1}{2} \int_0^T [\langle X, W(t)X \rangle + \langle u, R(t)u \rangle] dt \dots \dots \dots (1)$$

On the system:

$$\left. \begin{aligned} \dot{x} &= a_1(t)x + b_1(t)y + c_1(t)z + d_1(t)u \\ \epsilon \dot{y} &= a_2(t)x + b_2(t)y + c_2(t)z + d_2(t)u \\ \epsilon^2 \dot{z} &= a_3(t)x + b_3(t)y + c_3(t)z + d_3(t)u \end{aligned} \right\} \dots \dots \dots (2)$$

$$\left. \begin{aligned} x(0) &= x_0 \\ y(0) &= y_0 \\ z(0) &= z_0 \end{aligned} \right\} \dots \dots \dots (3)$$

Such that $X = \begin{pmatrix} x \\ y \\ z \end{pmatrix}$ and $W(t), R(t)$,

$a_i(t, \epsilon), b_i(t, \epsilon), c_i(t, \epsilon), d_i(t, \epsilon), i = \overline{1,3}$ are smooth on the interval $[0, T], \epsilon \geq 0$ and $W(t, \epsilon), R(t, \epsilon)$ are symmetric matrices.

We will use the following matrices:

$$W = \begin{pmatrix} w_{11} & w_{12} & w_{13} \\ w_{21} & w_{22} & w_{23} \\ w_{31} & w_{32} & w_{33} \end{pmatrix}, D = \begin{pmatrix} d_1 \\ d_2 \\ d_3 \end{pmatrix}$$

We will work under the following condition:

- The matrices $c_3, (b_2 - c_2 c_3^{-1} b_3)$ are stable, i.e. the real parts of their eigenvalues are negative.

III. Construction of asymptotic expansion :

The following method is called direct method [3] by using a boundary functions [9].

The solution of problem (1-3) by this method will be written :

$$\begin{aligned} x(t, \epsilon) &= \bar{x}(t, \epsilon) + \pi_{1x}(\tau_1, \epsilon) + \pi_{2x}(\tau_2, \epsilon) \\ &\quad + Q_{1x}(\eta_1, \epsilon) + Q_{2x}(\eta_2, \epsilon) \\ y(t, \epsilon) &= \bar{y}(t, \epsilon) + \pi_{1y}(\tau_1, \epsilon) + \pi_{2y}(\tau_2, \epsilon) \\ &\quad + Q_{1y}(\eta_1, \epsilon) + Q_{2y}(\eta_2, \epsilon) \\ z(t, \epsilon) &= \bar{z}(t, \epsilon) + \pi_{1z}(\tau_1, \epsilon) + \pi_{2z}(\tau_2, \epsilon) \\ &\quad + Q_{1z}(\eta_1, \epsilon) \\ &\quad + Q_{2z}(\eta_2, \epsilon) \dots \dots \dots (4) \end{aligned}$$

$$J_\epsilon(u) = \sum_{i=0}^{\infty} \epsilon^i J_i$$

$$\begin{aligned} \bar{x}(t, \epsilon) &= \sum_{i=0}^{\infty} \epsilon^i \bar{x}_i(t) \\ , \pi_{1x}(\tau_1, \epsilon) &= \sum_{i=0}^{\infty} \epsilon^i \pi_{1x}^i(\tau_1), \pi_{2x}(\tau_2, \epsilon) = \\ &\sum_{i=0}^{\infty} \epsilon^i \pi_{2x}^i(\tau_2) \end{aligned}$$

$$\begin{aligned} Q_{1x}(\tau_1, \epsilon) &= \sum_{i=0}^{\infty} \epsilon^i Q_{1x}^i(\tau_1), Q_{2x}(\tau_2, \epsilon) = \\ &\sum_{i=0}^{\infty} \epsilon^i Q_{2x}^i(\tau_2) \end{aligned}$$

$$\begin{aligned} \bar{y}(t, \epsilon) &= \sum_{i=0}^{\infty} \epsilon^i \bar{y}_i(t) \\ , \pi_{1y}(\tau_1, \epsilon) &= \sum_{i=0}^{\infty} \epsilon^i \pi_{1y}^i(\tau_1), \pi_{2y}(\tau_2, \epsilon) = \\ &\sum_{i=0}^{\infty} \epsilon^i \pi_{2y}^i(\tau_2) \end{aligned}$$

$$\begin{aligned} Q_{1y}(\tau_1, \epsilon) &= \sum_{i=0}^{\infty} \epsilon^i Q_{1y}^i(\tau_1), Q_{2y}(\tau_2, \epsilon) = \\ &\sum_{i=0}^{\infty} \epsilon^i Q_{2y}^i(\tau_2) \end{aligned}$$

$$\begin{aligned} \bar{z}(t, \epsilon) &= \sum_{i=0}^{\infty} \epsilon^i \bar{z}_i(t) \\ , \pi_{1z}(\tau_1, \epsilon) &= \sum_{i=0}^{\infty} \epsilon^i \pi_{1z}^i(\tau_1), \pi_{2z}(\tau_2, \epsilon) = \\ &\sum_{i=0}^{\infty} \epsilon^i \pi_{2z}^i(\tau_2) \end{aligned}$$

$$\begin{aligned} Q_{1z}(\tau_1, \epsilon) &= \sum_{i=0}^{\infty} \epsilon^i Q_{1z}^i(\tau_1), Q_{2z}(\tau_2, \epsilon) = \\ &\sum_{i=0}^{\infty} \epsilon^i Q_{2z}^i(\tau_2) \end{aligned}$$

$$\tau_1 = \frac{t}{\epsilon}, \tau_2 = \frac{t}{\epsilon^2}, \eta_1 = \frac{t-T}{\epsilon}, \eta_2 = \frac{t-T}{\epsilon^2}$$

Such that:

$\pi_{1x}^i, \pi_{2x}^i, \pi_{1y}^i, \pi_{2y}^i, \pi_{1z}^i, \pi_{2z}^i$ are a boundary functions in a neighborhoods of $t=0$ and it satisfies the following equality :

$$\begin{aligned} \|\pi_{jg}^i(\tau_j)\| &\leq c e^{-\omega \tau_i}, \\ j &= 1, 2, g = x, y, z \dots \dots \dots (5) \end{aligned}$$

$Q_{1x}^i, Q_{2x}^i, Q_{1y}^i, Q_{2y}^i, Q_{1z}^i, Q_{2z}^i$ are a boundary functions in a neighborhoods of $t=0$ and it satisfies the following equality :

$$\begin{aligned} \|Q_{jg}^i(\eta_j)\| &\leq c e^{-\omega \eta_i}, \\ j &= 1, 2, g = x, y, z \dots \dots \dots (6) \end{aligned}$$

Where c, ω are positive constants.

Now by substituting the expansion (4) in the equations 1-3 and equating coefficients which the same power of ϵ we obtain:

$$\bar{x}_0(0) = x_0 \dots \dots \dots (7)$$

$$\bar{x}_1(0) + \pi_{1x}^1(0) = 0 \dots \dots \dots (8)$$

$$\bar{x}_j(0) + \pi_{1x}^j(0) + \pi_{2x}^j(0) = 0, \quad j \geq 2 \dots \dots \dots (9)$$

$$\bar{y}_0(0) + \pi_{1y}^0(0) = y_0 \dots \dots \dots (10)$$

$$\bar{y}_j(0) + \pi_{1y}^j(0) + \pi_{2y}^j(0) = 0, \quad j \geq 1 \dots \dots \dots (11)$$

$$\bar{z}_0(0) + \pi_{1z}^0(0) + \pi_{2z}^0(0) = z_0 \dots \dots \dots (12)$$

$$\bar{z}_j(0) + \pi_{1z}^j(0) + \pi_{2z}^j(0) = 0, \quad j \geq 1 \dots \dots \dots (13)$$

By considering (5) we obtain :

$$\pi_{1x}^0(\tau_1) = Q_{1x}^0(\eta_1) = \pi_{2x}^0(\tau_2) = Q_{2x}^0(\eta_2) = \pi_{2x}^1(\tau_2) = 0$$

$$Q_{2x}^1(\eta_2) = \pi_{1y}^0(\tau_1) = Q_{1y}^0(\eta_1) = 0 \dots \dots (14)$$

In the following statements we construction the minimize functional J_0 , at $\epsilon = 0$ and from 1-3 we have :

$$\bar{J}_0(\bar{u}_0) = \frac{1}{2} \int_0^T [< \bar{X}_0(t), W_0(t) \bar{X}_0(t) > + < \bar{u}_0(t), R_0(t) \bar{u}_0(t) >] dt \dots \dots \dots (15)$$

$$\frac{d\bar{x}_0}{dt} = a_1(t)\bar{x}_0 + b_1(t)\bar{y}_0 + c_1(t)\bar{z}_0 + d_1(t)\bar{u}_0, \quad \bar{x}_0(0) = x_0$$

$$0 = a_2(t)\bar{x}_0 + b_2(t)\bar{y}_0 + c_2(t)\bar{z}_0 + d_2(t)\bar{u}_0, \quad \bar{y}_0(0) = y_0$$

$$0 = a_3(t)\bar{x}_0 + b_3(t)\bar{y}_0 + c_3(t)\bar{z}_0 + d_3(t)\bar{u}_0, \quad \bar{z}_0(0) = z_0 \dots \dots (16)$$

Now we use the Hamilton method for solving the problem (15-16):

$$\bar{X}_0(t) = \begin{pmatrix} \bar{x}_0(t) \\ \bar{y}_0(t) \\ \bar{z}_0(t) \end{pmatrix}$$

$$\bar{\Psi}_0 = \begin{pmatrix} \bar{p}_{01}(t) \\ \bar{p}_{02}(t) \\ \bar{p}_{03}(t) \end{pmatrix}$$

$$\begin{aligned} \bar{H}_0(t) = & \bar{p}_{01}(t)(a_1(t)\bar{x}_0 + b_1(t)\bar{y}_0 + c_1(t)\bar{z}_0 + \\ & d_1(t)\bar{u}_0) + \bar{p}_{02}(t)(a_2(t)\bar{x}_0 + b_2(t)\bar{y}_0 + \\ & c_2(t)\bar{z}_0 + d_2(t)\bar{u}_0) + \bar{p}_{03}(t)(a_3(t)\bar{x}_0 + \\ & b_3(t)\bar{y}_0 + c_3(t)\bar{z}_0 + d_3(t)\bar{u}_0) - \frac{1}{2} < \\ & \bar{X}_0(t), W_0(t) \bar{X}_0(t) > - \frac{1}{2} < \bar{u}_0(t), R_0(t) \bar{u}_0(t) >, \end{aligned}$$

By conditions of optimal control we obtain:

$$\frac{\partial \bar{H}_0}{\partial \bar{y}_0} = 0, \quad \frac{\partial \bar{H}_0}{\partial \bar{z}_0} = 0, \quad \frac{\partial \bar{H}_0}{\partial \bar{u}_0} = 0 \dots \dots \dots (18)$$

$$\begin{aligned} \frac{\partial \bar{H}_0}{\partial \bar{x}_0} = & - \frac{d\bar{p}_{01}(t)}{dt} \\ & - \frac{d\bar{p}_{01}(t)}{dt} = a_1\bar{p}_{01}(t) + a_2\bar{p}_{02}(t) + a_3\bar{p}_{03}(t) \\ & - w_{11}^0(t)\bar{x}_0(t) - w_{12}^0(t)\bar{y}_0(t) \\ & - w_{13}^0(t)\bar{z}_0(t) \end{aligned}$$

$$\bar{p}_{01}(T) = 0 \dots \dots \dots (19)$$

From (18) we have :

$$\begin{aligned} \bar{p}_{03}(t) = & (c_3(t)^{Tr})^{-1} [-\bar{p}_{01}(t)^{Tr} c_1 - \bar{p}_{02}(t)^{Tr} c_2 \\ & + w_{13}(t)\bar{x}_0(t) + w_{23}(t)\bar{y}_0(t) \\ & + w_{33}(t)\bar{z}_0(t)] \dots \dots \dots (20) \end{aligned}$$

$$\begin{aligned}
& \bar{p}_{02}(t) \\
& = [(b_2(t) \\
& - b_3(t)(c_3(t))^{-1}c_2(t))^{Tr}]^{-1}[\bar{p}_{01}(t)^{Tr}[-b_2(t) \\
& + b_3(t)(c_3(t))^{-1}c_2(t)] \\
& - b_3(t)^{Tr}(c_3(t))^{-1}(w_{13}(t)\bar{x}_0(t) + w_{23}(t)\bar{y}_0(t) \\
& + w_{33}(t)\bar{z}_0(t)) + w_{12}(t)\bar{x}_0(t) + w_{22}(t)\bar{y}_0(t) \\
& + w_{32}(t)\bar{z}_0(t)] \dots \dots \dots (21)
\end{aligned}$$

Proposition 3.1(sufficient condition):

The control :

$$\begin{aligned}
\bar{u}_{0*} = (R_0(t))^{-1}[d_1^{Tr}(t)\bar{p}_{01} + d_2^{Tr}(t)\bar{p}_{02} \\
+ d_3^{Tr}(t)\bar{p}_{03}] \dots \dots \dots (22)
\end{aligned}$$

is optimal control for problems 15-16.

Proof:

We must proof: $J_0(\bar{u}_{0*}) \leq J_0(\bar{u}_0)$, $\forall \bar{u}_0$

i.e. $J_0(\bar{u}_0) - J_0(\bar{u}_{0*}) \geq 0$

We note that:

$$\begin{aligned}
J_0(\bar{u}_0) - J_0(\bar{u}_{0*}) = \frac{1}{2} \int_0^T [\\
< \begin{pmatrix} \bar{x}_0 - \bar{x}_{0*} \\ \bar{y}_0 - \bar{y}_{0*} \\ \bar{z}_0 - \bar{z}_{0*} \end{pmatrix}, W_0(t) \begin{pmatrix} \bar{x}_0 - \bar{x}_{0*} \\ \bar{y}_0 - \bar{y}_{0*} \\ \bar{z}_0 - \bar{z}_{0*} \end{pmatrix} \\
> + < \bar{u}_0 - \bar{u}_{0*}, R_0(t)(\bar{u}_0 - \bar{u}_{0*}) \\
>] dt + \Delta \dots \dots \dots (23)
\end{aligned}$$

Such that:

$$\begin{aligned}
\Delta = \int_0^T [< W_0(t) \begin{pmatrix} \bar{x}_0 - \bar{x}_{0*} \\ \bar{y}_0 - \bar{y}_{0*} \\ \bar{z}_0 - \bar{z}_{0*} \end{pmatrix}, \begin{pmatrix} \bar{x}_{0*} \\ \bar{y}_{0*} \\ \bar{z}_{0*} \end{pmatrix} > + \\
< R_0(t)(\bar{u}_0 - \bar{u}_{0*}), \bar{u}_{0*} >] dt
\end{aligned}$$

By using equations 16,19,20,21,22 we have:

$$\begin{aligned}
\Delta = \int_0^T [\\
< \begin{pmatrix} \dot{\bar{p}}_{01} + a_1\bar{p}_{01} + a_2\bar{p}_{02} + a_3\bar{p}_{03} \\ b_1\bar{p}_{01} + b_2\bar{p}_{02} + b_3\bar{p}_{03} \\ c_1\bar{p}_{01} + c_2\bar{p}_{02} + c_3\bar{p}_{03} \end{pmatrix}, \begin{pmatrix} \bar{x}_0 - \bar{x}_{0*} \\ \bar{y}_0 - \bar{y}_{0*} \\ \bar{z}_0 - \bar{z}_{0*} \end{pmatrix} \\
> + \\
< d_1^{Tr}(t)\bar{p}_{01} + d_2^{Tr}(t)\bar{p}_{02} + d_3^{Tr}(t)\bar{p}_{03}, (\bar{u}_0 - \bar{u}_{0*}) \\
>] dt
\end{aligned}$$

$$\begin{aligned}
\Delta = \int_0^T [\begin{pmatrix} \dot{\bar{p}}_{01} \\ 0 \\ 0 \end{pmatrix}, \begin{pmatrix} \bar{x}_0 - \bar{x}_{0*} \\ \bar{y}_0 - \bar{y}_{0*} \\ \bar{z}_0 - \bar{z}_{0*} \end{pmatrix} > + \\
< \begin{pmatrix} a_1\bar{p}_{01} + a_2\bar{p}_{02} + a_3\bar{p}_{03} \\ b_1\bar{p}_{01} + b_2\bar{p}_{02} + b_3\bar{p}_{03} \\ c_1\bar{p}_{01} + c_2\bar{p}_{02} + c_3\bar{p}_{03} \end{pmatrix}, \begin{pmatrix} \bar{x}_0 - \bar{x}_{0*} \\ \bar{y}_0 - \bar{y}_{0*} \\ \bar{z}_0 - \bar{z}_{0*} \end{pmatrix} > + \\
< \bar{p}_{01}, d_1(\bar{u}_0 - \bar{u}_{0*}) > + < \bar{p}_{02}, d_2(\bar{u}_0 - \bar{u}_{0*}) > + \\
< \bar{p}_{03}, d_3(\bar{u}_0 - \bar{u}_{0*}) >] dt
\end{aligned}$$

$$\begin{aligned}
\Delta = \int_0^T [\begin{pmatrix} \dot{\bar{p}}_{01} \\ 0 \\ 0 \end{pmatrix}, \begin{pmatrix} \bar{x}_0 - \bar{x}_{0*} \\ \bar{y}_0 - \bar{y}_{0*} \\ \bar{z}_0 - \bar{z}_{0*} \end{pmatrix} > + < \bar{p}_{01}, \dot{\bar{x}}_0 - \dot{\bar{x}}_{0*} \\
> + < \bar{p}_{02}, 0 > + < \bar{p}_{03}, 0 >] dt
\end{aligned}$$

By (19) we obtain $\Delta = 0$.

Since the first part of (23) is positive for all $t \in [0, T]$, thus $J_0(\bar{u}_0) - J_0(\bar{u}_{0*}) \geq 0 \rightarrow J_0(\bar{u}_{0*}) \leq J_0(\bar{u}_0) \forall \text{ control } \bar{u}_0$

Therefore \bar{u}_{0*} is optimal control for the problem 15-16.

Proposition 3.2 (necessary condition):

The optimal control for problem 15-16 is :

$$\begin{aligned}
\bar{u}_{0*} = (R_0(t))^{-1}[d_1^{Tr}(t)\bar{p}_{01} + d_2^{Tr}(t)\bar{p}_{02} \\
+ d_3^{Tr}(t)\bar{p}_{03}]
\end{aligned}$$

Proof:

From (16) we have :

$$\begin{aligned}
\bar{y}_0 = \frac{-(c_3b_2 - c_2b_3)^{-1}}{k_1} \left[\frac{(c_3a_2 - c_2a_3)}{h_1} \bar{x}_0 \right. \\
\left. + \frac{(c_3d_2 - c_2d_3)}{h_2} \bar{u}_0 \right]
\end{aligned}$$

$$\bar{z}_0 = \frac{-(b_3c_2 - b_2c_3)^{-1} (b_3a_2 - b_2a_3)}{k_2} \left[\frac{(b_3a_2 - b_2a_3)}{h_3} \bar{x}_0 + \frac{(b_3d_2 - b_2d_3)}{h_4} \bar{u}_0 \right]$$

By substitution \bar{y}_0, \bar{z}_0 in the equation (15) we have:

$$J_0(\bar{u}_0) = \frac{1}{2} \int_0^T \left[\left\langle \begin{pmatrix} \bar{x}_0 \\ -k_1^{-1}(a_1\bar{x}_0 + a_2\bar{u}_0) \\ -k_2^{-1}(a_3\bar{x}_0 + a_4\bar{u}_0) \end{pmatrix}, W_0(t) \begin{pmatrix} \bar{x}_0 \\ -k_1^{-1}(a_1\bar{x}_0 + a_2\bar{u}_0) \\ -k_2^{-1}(a_3\bar{x}_0 + a_4\bar{u}_0) \end{pmatrix} \right\rangle + \bar{u}_0, R_0(t)\bar{u}_0 \right] dt +$$

and the system:

$$\begin{aligned} \dot{\bar{x}}_0 &= (a_1 - b_1h_1k_1^{-1} - c_1h_3k_2^{-1})\bar{x}_0 \\ &\quad + (d_1 - b_1h_2k_1^{-1} - c_1h_4k_2^{-1})\bar{u}_0, \bar{x}_0(0) = x_0 \end{aligned}$$

Such that:

$$k_1 = c_3b_2 - c_2b_3, k_2 = -k_1$$

$$\begin{aligned} h_1 &= c_3a_2 - c_2a_3, h_2 = c_3d_2 - c_2d_3, h_3 \\ &= b_3a_2 - b_2a_3, h_4 \\ &= b_3d_2 - b_2d_3 \end{aligned}$$

The necessary condition of optimal control follows from [5]

Example 3.3:

Consider the problem:

$$Min J(u) = \frac{1}{2} \int_0^1 (x^2 + y^2 + u^2) dt \dots \dots (1)$$

$$\dot{x}(t, \varepsilon) = 3x(t, \varepsilon) - y(t, \varepsilon),$$

$$\varepsilon \dot{y}(t, \varepsilon) = 5x(t, \varepsilon) - 3y(t, \varepsilon),$$

$$\varepsilon^2 \dot{z}(t, \varepsilon) = 2z(t, \varepsilon) + u(t, \varepsilon), \quad t \in [0, 1] \dots \dots (2)$$

$$x(0, \varepsilon) = 1, y(0, \varepsilon) = 1, z(0, \varepsilon) = 1 \dots \dots (3)$$

The Hamilton function will be:

$$H = P(3x - y) + \phi(5x - 3y) + \psi(2z + u) - \frac{1}{2}x^2 - \frac{1}{2}y^2 - \frac{1}{2}u^2$$

Thus by Maximum principle we have a system:

$$\left. \begin{aligned} \dot{P} &= -3P - 5\phi + x, \\ \varepsilon \dot{\phi} &= P + 3\phi + y, \\ \varepsilon^2 \dot{\psi} &= -2\psi, \\ u &= \psi. \end{aligned} \right\} \dots \dots (4)$$

$$P(1) = 0, \phi(1) = 0, \psi(1) = 0 \dots \dots (5)$$

Now we solve the systems (2-3) and (4-5) together, we will have the exact solution:

$$x(t, \varepsilon) = c_1 e^{(a+b)t} + c_2 e^{(a-b)t}$$

$$y(t, \varepsilon) = c_1(3 - a - b)e^{(a+b)t} + c_2(3 - a + b)e^{(a-b)t}$$

$$z(t, \varepsilon) = \frac{3}{2} e^{\frac{2}{\varepsilon^2}t} - \frac{1}{2}$$

Such that:

$$c_1 = \frac{3 - a + b}{2b}, c_2 = 1 - c_1, a = \frac{3\varepsilon - 3}{2\varepsilon},$$

$$b = \frac{\sqrt{\frac{9}{\varepsilon^2} - \frac{2}{\varepsilon} + 9}}{2}$$

Now, let $\varepsilon = 0$ and we will find the solution in this case:

$$\dot{\bar{x}}_0 = 3\bar{x}_0 - \bar{y}_0, 0 = 5\bar{x}_0 - 3\bar{y}_0, 0 = 2\bar{z}_0 + \bar{u}_0.$$

$$\frac{-4}{3} \bar{P}_0 = \dot{\bar{P}}_0, \bar{y}_0 = \dot{\bar{\phi}}_0, \bar{u}_0 = 0$$

Thus the solution is:

$$\bar{x}_0 = e^{\frac{4}{3}t}, \bar{y}_0 = \frac{5}{3} e^{\frac{4}{3}t}, \bar{z}_0 = 0 = \bar{u}_0$$

Finally we find asymptotically solution:

$$\begin{aligned}\tilde{x}_0(t) &= e^{\frac{4}{3}t}, \tilde{y}_0(t) = \frac{5}{3}e^{\frac{4}{3}t} + e^{\frac{-3}{\varepsilon}t}, \tilde{z}_0(t) \\ &= \frac{-1}{2}e^{\frac{-2}{\varepsilon}t} \\ &+ \left(1 + \frac{1}{\varepsilon^2}\right)e^{\frac{-2}{\varepsilon^2}t}, \tilde{u}_0(t) \\ &= e^{\frac{-2}{\varepsilon}t} + e^{\frac{-2}{\varepsilon^2}t}\end{aligned}$$

For compare between the solutions we take $\varepsilon = 0.1, \varepsilon = 0.01, \varepsilon = 0.05$ and composition the following table:

ε	J(u)	J(\tilde{u}_0)	J(\tilde{u}_0)
0.1	10.8594	9.485941	9.5707
0.01	9.6211	9.485941	9.4937
0.05	10.1674	9.485941	9.5263

Table(1.1)

References:

[1] Ashepk L.T., Optimal control of continuous systems, Novsperk, 1987.

[2] Belokopytov S.V., Dmitriev M.G. , Direct scheme in optimal control problems with fast and slow motions , Syst. and Contr. Lett. ,1986. ,V. 8., № 2., P. 129–135.

[3] Belokopit S.V., solution of classical bounded optimal control problem , Automatic and Telchical ,No.7, 1989, p. 71-82.

[4] Demetri M.G., singularly perturbed in control problem, Automatic and Telchical, No.1, 2006, p.3-51.

[5] Heping Ma, Bin Liu, Linear-Quadratic Optimal Control Problem for Partially Observed Forward-Backward Stochastic Differential Equations of Mean-Field Type, Wiley press, Volume 18, Issue 6 , November 2016 ,Pages 2146–2157

[6] Jakob Preininger, Teresa Scarinci, Vladimir M. Veliov, On the Regularity of Linear-Quadratic Optimal Control Problems with Bang-Bang Solutions, Institute of Statistics and Mathematical Methods in Economics Vienna University of Technology, Austria, 2017.

[7] Jingrui, Linear Quadratic Optimal Control Problems with Fixed Terminal States and Integral Quadratic Constraints, National University of Singapore, 119076, Singapore, 2017.

[8] Lellep I., Basic of mathematical theory of optimal control, Tartu State University, Tartu , 1981.

[9] Lomov S.A., Introduction to the general theory of singular perturbations., M.: the Science, 1981.

[10] Melnik T.A., Asymptotics of Solutions of Discontinuous Singularly Perturbed Boundary Value Problems, Ukrain.Math., 1999., Vol. 51, No. 6, P. 861-864.

[11] Pokornaya I.Yu. , The collocation of methods for the solution of singularly perturbed boundary-value problems with the minimal splines. , Diss. Of Physic -mat. Sciences, Voronezh, 1996.

[12] Qingmeng Wei, Jiongmin Yong, and Zhiyong Yu, Linear Quadratic Stochastic Optimal Control Problems with Operator Coefficients: Open-Loop Solutions, National Natural Science Foundation of China, V.1, 2017

[13] Vasilive A.B, Asymptotic expansion of solution singularly perturbed in control, M.:Science, 1973.

الحل التناظري لمسائل التحكم الأمثل التربيعية الخطية مع المعلمة الصغيرة التربيعية

ميثاق حمزة كعيم¹ ، سعاد محمد حسن²

¹العراق، جامعة القادسية، كلية التربية، قسم الرياضيات

²العراق، كربلاء، اعدادية جمانة بنت ابي طالب

Methaq.Geem@qu.edu.iq

الملخص:

في هذا البحث قمنا ببناء توسيع حل متناظر لمسائل الحل الامثل التربيعي الخطي لمعادلات الاضطراب المنفردة. وتستند هذه الصيغة على التعويض المباشر عن توسع مقارب مفترض لنوع من الدوال المحدودة وايجاد شروط المسألة لايجاد حدود التوسيع. تم إثبات التوسيع عند $(\varepsilon = 0)$ للحل المتناظر. في مسائل الرياضيات الفيزيائية نقول إن المسائل التربيعية الخطية المنفردة هي تمثل السرعة "سريعة وبطيئة"، في هذا البحث ناقشنا مفهوم "أبطأ سرعة" من خلال اتخاذ المعلمة الصغيرة التربيعية في مسائل الاضطراب الخطي التربيعي المنفردة.